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Not Achieved exemplar for 91403  2015 Total score 05 

Q 
Grade 

score 
Annotation 

1 A3 

This candidate has received A3 for this question because they: 

a) shifted and labelled the AS curve correctly on Graph One. (1) 
b) provided partial explanations about economic growth and 

employment increasing. (2) 

2 N1 

This candidate has received N1 for this question because they: 

a) partially explained how the falling oil prices will change import 
payments, reduce costs of production for firma and lead to deflation.  
The explanation is incomplete and contains incorrect ideas. (3)  

b) provided no relevant explanations with regard to the impact of falling 
oil prices and the slowdown of the world economy on NZ’s goal of a 
balanced current account. (4) 

3 N1 

This candidate has received N1 for this question because they: 

a) were unable to correctly calculate the change in GDP using the 
spending multiplier. (5)  

b) were unable to explain how the spending multiplier works. (6)  
c) correctly identified a recession and a recovery on Graph Two (7) but 

failed to provide any relevant explanations about the impact of 
recessions or recoveries on the price level (8).  

 


